### Informational Report for the October 16, 2012 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	МІ	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
Chabot College - C	Community Edu	cation	ı									
					To teach Drama							
					classes to Community	Community						
Amayo-Hassan	Linda	M.	Chabot	No	Education students	Education	Hourly	\$45.00	18	\$810.00	10/13/2012	11/30/2012
					To teach Drama							
					classes to Community	Community						
Arnott	Heidi	E.	Chabot	Yes	Education students	Education	Hourly	\$35.00	10	\$350.00	9/10/2012	12/21/2012
					To teach Cake and							
					Cupcake decorating to Community Education	Community						
Groff	Mary Lou	nmi	Chabot	No	students	Education	Hourly	\$30.00	26	\$780.00	10/1/2012	12/10/2012
Gron	Wary Loa	1	Chabot	110	To teach TaeKwon Do	Laddation	ricarry	φου.σσ	20	Ψ/ 00.00	10/1/2012	12/10/2012
					to Community	Community						
DeGuzman	Rudolfo	S.	Chabot	No	Education students	Education	Hourly	\$35.00	17	\$595.00	9/10/2012	12/11/2012
					To teach AUTOCAD to							
					Community Education	Community						
Huang	Wei-Chin	nmi	Chabot	No	students	Education	Hourly	\$99.00	12	\$1,188.00	10/20/2012	11/10/2012
					To teach soccer							
1.			0		classes to Community	Community	Per	007.50	20	<b>#</b> 000 <b>5</b> 0	0/07/00/0	40/00/0040
Igwe	Anthony	Ο.	Chabot	No	Education students	Education	Student	\$37.50	23	\$862.50	8/27/2012	10/30/2012
					To teach Community Band to Community	Community						
Johnson	Beverly	M.	Chabot	No	Education students	Education	Hourly	\$45.00	25	\$1,125.00	9/10/2012	12/3/2012
001110011	Bovony	1	Criabot	110	Eddodion olddono	Laacation	i iouily	Ψ10.00		Ψ1,120.00	0,10,2012	12/0/2012
					To teach							
					San Francisco Walking							
		l			Tour to Community	Community		0.45.55		0000 ==	40/00/00:5	4.4.4.7.10.0 : 5
Kensinger	Keary	M.	Chabot	No	Education students	Education	Hourly	\$45.00	4.5	\$202.50	10/20/2012	11/17/2012
					To to Chinese to Community Education	Community						
Kuo	Diana	S.	Chabot	No	students	Education	Hourly	\$45.00	24	\$1,080.00	10/2/2012	12/18/2012
NuU	Dialia	J.	CHADUL	INU	อเนนษาเอ	Luucalion	Hourry	φ45.00	24	φ1,000.00	10/2/2012	12/10/2012

### Informational Report for the October 16, 2012 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	МІ	Site	District	Duties	Division	Type	Pay Rate	Maximum	Amount	Beg. Date	
					To teach Macintosh		7.					
					computer classes to							
					Community Education	Community						
Matthews	Mike	nmi	Chabot	No	students	Education	Hourly	\$45.00	6	\$270.00	10/13/2012	11/17/2012
					To teach Mystery							
					Shopping to							
					Community Education	Community	Per					
Moran	Elaine	E.	Chabot	No	students	Education	Student	\$19.60	15	\$294.00	10/18/2012	10/30/2012
					To teach Macintosh							
					computer classes to							
					Community Education	Community						
Moran	Elaine	nmi	Chabot	No	students	Education	Hourly	\$45.00	6	\$270.00	10/13/2012	11/17/2012
					To teach Skin Care to							
		_	<b>.</b>		Community Education	Community			_	<b>.</b>		
Palmer	Angela	R.	Chabot	No	students	Education	Hourly	\$30.00	9	\$270.00	10/24/2012	11/7/2012
					To too ab Madical Frant							
					To teach Medical Front	C :t	D - "					
Dottoroon	I/ rio		Chahat	No	Office to Community Education students	Community	Per	\$42.00	4.5	<b>#</b> 620.00	10/20/2012	10/20/2012
Patterson	Kris	nmi	Chabot	No	To teach Medical	Education	Student	\$42.00	15	\$630.00	10/29/2012	10/30/2012
					Insurance Billing to							
					Community Education	Community	Per					
Patterson	Kris	nmi	Chabot	No	students	Education	Student	\$10.00	14	\$140.00	10/28/2012	10/30/2012
i allerson	IXIIS	111111	Chabot	INO	To teach Start a	Ludcation	Student	Ψ10.00	14	Ψ140.00	10/20/2012	10/30/2012
					Medical Insurance							
					Billing Service from							
					home to Community	Community	Per					
Patterson	Kris	nmi	Chabot	No	Education students	Education	Student	\$26.00	14	\$364.00	10/27/2012	10/30/2012
			0.10001	1.10	To teach Advance		010.001.11	Ψ=0.00		<b>40000</b>	. 0, 2. , 20 . 2	. 0, 00, 20 . 2
					Medical Insurance							
					Billing to Community	Community	Per					
Patterson	Kris	nmi	Chabot	No	Education students	Education	Student	\$34.00	14	\$476.00	10/27/2012	10/30/2012

### Informational Report for the October 16, 2012 Board of Trustees Meeting

				New			_					
Last Name	First Name	МІ	Site	Emp to District	Dutios	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Last Name	I II St Name	IAII	Site	District	To teach Intro Medical	DIVISION	Type	I ay itale	Maximum	Amount	Beg. Date	Life Date
					Insurance Billing to							
					Community Education	Community	Per					
Patterson	Kris	nmi	Chabot	No	students	Education	Student	\$42.00	14	\$588.00	10/13/2012	10/30/2012
					To teach Medical							
					Insurance Billing							
					bundled class to							
			_		Community Education	Community						
Patterson	Kris	nmi	Chabot	No	students	Education	Hourly	\$110.00	30	\$3,300.00	10/13/2012	10/30/2012
					To teach Workers'							
					Compensation to							
Detteres	IZ mi n		Ob ab at	NI-	Community Education	Community	I I a combo	<b>CO 4 OO</b>	4.4	Ф4 <b>7</b> С 00	40/00/0040	40/00/0040
Patterson	Kris	nmi	Chabot	No	students To teach Sewing to	Education	Hourly	\$34.00	14	\$476.00	10/28/2012	10/30/2012
					Community Education	Community						
Ragbotra	Kamal	nmi	Chabot	No	students	Education	Hourly	\$35.00	24	\$840.00	10/6/2012	12/1/2012
rtagbotta	Itamai	111111	Chabot	140	To to Spanish to	Ludcation	Tiouriy	ψ00.00	24	ψ0-0.00	10/0/2012	12/1/2012
					Community Education	Community						
Salamanca	Ilva	L.	Chabot	No	students	Education	Hourly	\$45.00	8.75	\$393.75	7/9/2012	7/13/2012
Galamanea								<b>V</b> 10100		<b>7</b> 000000	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	.,,.
					To teach One-Stroke							
					Painting to Community	Community						
Small	Melanie	nmi	Chabot	No	Education students	Education	Hourly	\$35.00	8	\$280.00	10/20/2012	11/1/2012
Chabot College												
					To provide support and							
l			01 1 1		costume design	School of the	E	<b>#</b> 0.000.00	,	ФО ООО ОО	0/4/0040	0/00/0040
Amayo-Hassan	Linda	M.	Chabot	No	services	Arts	Flat	\$3,000.00	n/a	\$3,000.00	9/1/2012	6/30/2013
					To provide project							
					services for the	School of the						
Autrey	Mari	nmi	Chabot	No		Arts	Hourly	\$18.00	300	\$5,400.00	9/1/2012	6/30/2013
Autiey	iviaii	111111	Oriabut	INU	r choming Arts Center	AIIO	riourry	ψ10.00	300	ψυ,+υυ.υυ	3/1/2012	0/30/2013

### Informational Report for the October 16, 2012 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
Barrow	Adia	N.	Chabot	No	To provide sign language interpretation services	Disabled Student Services and Programs	Hourly	\$40.00	1000	\$40,000.00	7/1/2012	6/30/2013
Burnett	Jordan	G.	Chabot	No	To provide specialized programming using BrioQuery in the Institutional Research database	President's Office / Institutional Research	Hourly	\$20.00	328	\$6,560.00	9/14/2012	6/30/2013
Evans-McWilliams	Gwen	nmi	Chabot	No	To provide PRIDE training for the Foster and Kinship Care Education Program	Fosker Kinship Care Education	Hourly	\$50.00	150	\$7,500.00	9/1/2012	6/30/2013
Harrell	Dorothea	nmi	Chabot	No	To provide childcare support for parents attending CARI / PRIDE training	Social Sciences	Hourly	\$20.00	300	\$6,000.00	7/7/2012	6/30/2013
							,			. ,		
Las Positas - Comn	nunity Education	on										
Elevelo	Ohais	:	Las Dasitas	Vaa	To teach First Aid/CPR to Community	Community	I I a contro	<b>\$55.00</b>	40	<b>#000.00</b>	40/40/0040	40/04/0040
Eberle	Chris	nmi	Las Positas	Yes	Education Students To teach Music to	Education	Hourly	\$55.00	16	\$880.00	10/13/2012	12/21/2012
Faust	Carol	C.	Las Positas	No	Community Education students	Community Education	Per Student	\$20.00	30	\$600.00	9/29/2012	10/1/2012
					To teach Fending to Community Education	Community						
Murray	Stephen	D.	Las Positas	No	students	Education	Hourly	\$40.00	10	\$400.00	7/1/2012	7/30/2012
Roberts	Mark	A.	Las Positas	No	To teach art classes to Community Education students	Community Education	Flat Rate	\$300.00	1	\$300.00	9/28/2012	11/30/2012

### Informational Report for the October 16, 2012 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	МІ	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
						_						
Mondo	Ob winting		Las Dasitas	NI-	To provide a special	Community	Flat	<b>Ф</b> БОО ОО	1	<b>\$</b> 500.00	7/07/0040	7/20/2040
Warda	Christine	M.	Las Positas	No	class in public speaking	Education	Rate	\$500.00	<u> </u>	\$500.00	7/27/2012	7/30/2012
Las Positas College												
					To provide specialized tactile interpretation for blind students and provide sign language	Disabled Student Programs and						
Baldoza	Veramarie	H.	Las Positas	Yes	interpretation services	Services	Hourly	\$60.00	300	\$ 18,000.00	8/27/2012	6/30/2013
Furr	Emily	T.	Las Positas	Yes	To provide sign language interpretation services	Disabled Student Programs and Services	Hourly	\$50.00	300	\$ 15,000.00	9/1/2012	6/30/2013
					To provide skills evaluation and assess emergency medical		,					
Holback	Richard	A.	Las Positas	No	To provide coordination and training for the Foster and Kinship Care Education	Public Safety  Early Childhood		\$15.00	200	\$ 3,000.00	9/10/2012	6/30/2013
Loyola	Anne	L.	Las Positas	No	program To provide contract services for the Tri-Valley One Stop Center operations as a job developer as a part of the Workforce	Development  Tri-Valley One	Hourly	\$45.00	900	\$40,500.00	9/1/2012	12/31/2012
Pflaster	Linda	J.	Las Positas	No	Investement Act	Stop	Monthly	\$4,200.00	32/week	\$8,400.00	8/7/2012	9/27/2012

### Informational Report for the October 16, 2012 Board of Trustees Meeting

				New								
				Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
						Disabled						
					To provide sign	Student						
					language interpretation	Programs and						
Spohn	Judy	nmi	Las Positas	No	services	Services	Hourly	\$50	300	\$ 15,000.00	9/1/2012	6/30/2013
					To conduct workshops	Foster and						
					·	Kinship Care						
Wilkins	Quincy	L.	Las Positas	No	parents	Education	Hourly	\$65.00	60	\$3,900.00	9/1/2012	6/30/2013